Principles of Microeconomics

Notes on Deriving Demand  (Steps 1 – 6) 

Step 1
Fill in the marginal utility column.

Marginal utility is the difference in utility a person receives from consuming one more unit of the good.
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When the consumer buys one more compact disc, he/she increases his/her happiness by 11 units (from 12 to 23)

Step 2
Draw the budget constraint
On a graph put each good on an axis.

Then ask the question, “if the consumer spent all of his or her income on this one good, how many units of the good could he or she purchase?”

Assume that you have $4.00, and the two goods were donuts (which cost $.50) and coffee (which cost $1.00).    

Then if you spent all of your money on donuts you could buy 8 of them ($4.00/$.50). If you spent all of your money on coffee, you could buy 5 cups ($5.00/$1.00).

The budget constraint would look like this.
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Step 3 

Finding the optimal bundle.

In this section you want to find the best way to spend your income.  The goal is to spend your money in a way that brings you the highest utility.

Start by finding the marginal utility per dollar of each good.

MUX/Px = MU per dollar

Then go through the process of selecting the good that gives you the highest MU per dollar.

Tips

a. After you buy the first unit of Good X, you cannot buy that unit again, you must go to the second unit. And, we know the marginal utility of the second unit is less than the marginal utility of the first unit. So your MU per dollar will decrease. If it decreases enough to be below the MU per dollar of Good Y, then you will purchase Good Y next.

b. You can only buy what you can afford. Keep track of the amount you are spending. 

c. After you have spent all of your money, tally up the goods that you purchased i.e. 3 of Good X and 2 of Good Y. That is your optimal bundle.

Step 4
Finding the utility at the optimal bundle.

Go to the original utility information that is given and find the total utility (TU) when you buy i.e. 3 Good X. This is how much happiness you obtain from consuming three units of Good X.

Then from the same chart find the TU you will receive when you buy i.e. two units of Good Y. 

Add these two numbers up, that is your total utility from the optimal bundle.

Step 5 
Solve for the new optimal bundle after the price change
There will be a price change in either Good X or Good Y. Only the price of one good will change.

Go through Step 4 again, using the new price. 

Step 6 

Plotting a demand curve
Let’s assume that the price of Good X changed in Step 5. 

When the price of Good X was i.e. $1.00 the optimal bundle showed that you would have bought 3 units of Good X.  If the price a Good X increased to $2.00 (Step 5) let us assume that the optimal bundle showed that you would have bought 1 unit of Good X. (Changes in the amount of Good Y consumed does not matter to us here)

If Px= 1.00
Qx=3

if Px= 2.00
Qx=1
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Put these points on a demand curve for Good X.

You can also use this information to solve for the price elasticity of Good X.

